

Republic of the Philippines Department of Concation Office of the Undersecretary for Curriculum and Instruction

MEMORANDUM DM-CI-2022 00 224

TO

Minister of Basic, Higher and Technical Education, BARMM

Regional Directors

School Division Superintendents

FROM

DIOSDADO M. SAN ANTONIO

Undersecretary for Curriculum and Instruction

SUBJECT

VALIDATION OF THE PROPOSED POLICY ON DISTANCE

EDUCATION FOR LEARNERS WITH DISABILITIES

DATE

June 9, 2022

The Bureau of Learning Delivery– Student Inclusion Division (BLD-SID) conducted a virtual workshop on the development of policy on distance education for learners with disabilities last May 2-6, 2022. The output of the said activity will be validated on July 4-8, 2022 at Ecotech Center, Lahug, Cebu City.

Participants to the workshop are the teachers and principals from SPED centers. The participants should accomplish the registration validation workshop link at https://tinyurl.com/Validation-DistanceEDPolicy on or before June 30, 2022. Enclosed is the list of participants.

The validators/participants are expected to bring their laptops and should be in the venue on day 1, July 4, 2022. As part of the protocol, only those who are fully vaccinated against Covid-19 can participate in the activity. The first meal is dinner on day 0, July 3, 2022, and last meal is lunch on day 5, July 8, 2022.

All traveling and incidental expenses of the participants shall be chargeable to FY 2022 Special Education Fund downloaded to the respective regional offices. Should there be deficiency with the downloaded fund, it may be charged through their local funds. Travelling and incidental expenses of the participants from BARMM shall be paid directly so it is necessary to bring all the pertinent documents as the travel authority.

For more details or clarifications, please contact Dr. Salvacion Olinares, Supervising Education Program Specialist, BLD-SID, via email at bld.sid/deped.gov.ph.

Immediate dissemination of this Memorandum is desired.

OFFICE OF THE DIRECTOR IV

ate and Time Received



Republic of the Philippines Bepartment of Education Office of the Undersecretary for Curriculum and Instruction

List of field Validators/Participants

Region	Division	School	Number of Participant	
I	Pangasinan II	Nantangalan ES SPED Center	1 teacher	
	Pangasinan I	Mangaldan Integrated School SPED Center	1 principal	
ļi	Quirino	Cabarroguis CS - Integrated SPED Center	1 teacher	
	Nueva Vizcava	Bayombong Central School SPED Center	1 principal	
Ш	San Fernando	San Fernando City SPED Center	1 teacher	
	Angeles City	Angeles ES	1 principal	
IV-A	San Pablo City	Paaralang Pag-ibig at Pag-asa	1 teacher	
	Cabuyao City	Cabuyao CS SPED Center	1 principal	
IV-B	Calapan City	Adriatico Memorial School	1 teacher	
	Occidental Mindoro	Mamburao Central School SPED Center	1 principal	
V	Iriga City	Iriga City SPED Center	1 teacher	
	Legazpi City	Rawis ES	1 principal	
VI	Iloilo City	Jordan Elementary School	1 teacher	
	Talisay City	Talisay Elementary School	1 principal	
VII	Bohol	Jagna Central ES	1 teacher	
	Carcar City	Carcar ES SPED Center	1 principal	
VIII	Ormoc City	Ormoc City SPED Integrated School	1 teacher	
	Southern Leyte	Sogod CS SPED Center	1 principal	
IX	Zamboanga Sibugay	Ipil Special Education Center	1 principal	
	Isabela City	Isabela City Pilot School SPED Center	1 teacher	
X	Cagayan de Oro City	City Central School	1 teacher	
	Camiguin	Mambajao CES SPED Center	1 principal	
XI	Compostela City	Compostela CES School SPED Center	1 teacher	
	Panabo City	Panabo CES SPED Center	1 principal	
XII	Sarangani	Alabel SPED Center	1 teacher	
	North Cotabato	Midsayap SPED Center	1 principal	
XIII	Cabadbaran City	South Cabadbaran CES	1 teacher	
	Siargao City	Socorro CES SPED Center	1 principal	
CAR	Benguet	Benguet SPED Center	1 teacher	
	Ifugao	Ifugao SPED Center (Lagawe CS)	1 principal	
NCR	Caloocan	Cecilio Apostol ES SPED Center	1 teacher	
	Quezon City	Lagro ES SPED Center	1 principal	
BARMM	Sulu	Sulu SPED Center	1 teacher	
42 1411414	Tawi-Tawi	Bongao CES SPED Center	1 principal	
Total			32	



Republic of the Philippines Benartment of Education Office of the Undersecretary for Curriculum and Instruction



Republic of the Philippines Mepartment of Education

March 3, 2022

Activity Request (AR) AR No:AR-2022-CO-00103

FOR

DIOSDADO M, SAN ANTONIO

Underse ketsiy for Curriculum and Instruction

FROM

LEIL A TAREOLA

Bureau of Learning Delivery

Subject

ACTIVITY REQUEST FOR THE DEVELOPMENT, VALIDATION AND FINALIZATION OF POLICY ON DISTANCE EDUCATION FOR

LEARNERS WITH DISABILITIES

NAME OF PROGRAM , /PROJECT OUTPUT(S) TO **BE PRODUCED**

AND ITS CODE(S)

POLICY DEVELOPMENT FOR SPECIAL EDUCATION PROGRAM (SPED)

OC-22-BLD-SID-SPED-002 - Developed Policies on SPED

Output Code

Output

Physical 1 Target

OC-22-BLD-SID-SP | Finalized Foliage Education for Distance Education for

Learners with Disabilities 1

DEN NO. 330-332 3103001000500 4-15-3000 (ALD-S 10)
ALLOTMENT AVAILABLE 2, 196, 800 CROLITY: ROSG
Chief Adgraphment Officer



Republic of the Philippines Bepartment of Education Office of the Undersecretary for Curriculum and Instruction

7./.

Budges Setimate

Workshop on the Velidation of Policy on Distance Education for Learners with Disabilities Venue: Region VII Date: July 4-8, 2022

	# of pax	Amt./pax	# of Dys	Total	Downloading	Disease	
Board and Lodging	48	2,000	5	480,000.00	AND DESCRIPTION OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED I	Direct Payment	Cash Advance
Traveling Expenses:			-	400,000,00	480,000.00	Α	
co	10	12,000 00		120,000.00		-	
泉 1.	2	12,500,00		25,000.00		120,000.0	0 1
A ii	2	13,000 00	-	The second secon	23,000 00		1
Rill	2	12,500,00		26,000.00	26,000.00		
R IV-A	2	12,500.00		25,000.00	25,000.00		
RIV-B	2	12,500,00		25,000.00	25,000.00		
RV	2	23,500.00	-	25,000.00	25,000.00		
CAR	7	12,500.00		27,000 00	27,000.00		
NCR	2	Management .		25,000.00	25,000.00		
RVI	2	12,000.00		24,000 00	24,000.00	4	
RVII	2	7,000.00		14,000.00	14,000,00	1	
RVIII	-	3,000.00	- 1	6,000 00	6,000.00	4	
RIX	2	8,500.00		17,000.00	17.000.00		
X	2	8,000.00		16,000 00	16,000.00		
1 30	2	9,500.00		19,000.00	19,000.00		
XII	2	11,000.00		22,000.00	22,000 00		
ARAGA	2	11,000.00		22,000.00	22,000 00		
ANAGA	2	7,000.00		14,000.00	14,000.00		
	2	12,000.00		24,000.00	14,000.00		
onsultants & Interpreters	4	12,000.00		48,000.00		24,000.00	
lanaeuria:			-			48,000.00	4
Sign Language (Deaf Org.)	2	10,000.00		20,000,00			
Interpreters				20,000.00		20,000.00	1
Consultants	2	20,000.00		40,000.00			
opplies	48	300.00	-	14,400.00		40,000.00	
seal				The second secon			14,400 0
			1	,078,400.00	812,000.00	252,000.00	A 14,400.00

KATHLEN DIZA

SALVACION OLINARES SVEPS Recommending Epproval:

Approved:

LEHA AREDIA